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Γ1. 

𝑋𝐿 = 𝜔𝐿 = 1000 ∗ 0,08 = 80𝛺 

Γ2. 

𝑍2 = 𝑅2 + 𝑋𝐿
2 ⇔ 1002 = 𝑅2 + 802 ⇒ 𝑅2 = 1002 − 802 ⇔ 

 

𝑅 =  1002 − 802 =  10000 − 6400 =  3600 = 60𝛺 

Γ3. 

𝑈𝑅 =
𝑈𝑅,0

 2
=
60 2

 2
= 60𝑉  

 

𝐼 =
𝑈𝑅

𝑅
=
60

60
= 1𝐴 

Γ4. 

𝑈 = 𝑍𝐼 = 100 ∗ 1 = 100𝑉 

Γ5. 

𝜎𝜐𝜈 𝜑 =
𝑅

𝑍
=
60

100
= 0,6 
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Δ1. 

𝑋𝐿 = 𝜔𝐿 = 2𝜋
50

𝜋
0,5 = 50𝛺 

 

𝑋𝐶 =
1

𝜔𝐶
=

1

2𝜋
50
𝜋 2 ∗ 10−4

=
104

200
= 0,5 ∗ 102 = 50𝛺 

Δ2. 

𝑍 =  𝑅2 +  𝑋𝐿 − 𝑋𝐶 2 =  52 +  50 − 50 2 =  52 = 5𝛺 

Δ3. 

𝛪 =
𝑈

𝑍
=
100

5
= 20𝑉 

𝑈𝐿 = 𝑋𝐿𝐼 = 50 ∗ 20 = 1000𝑉 

Δ4. 

𝑄𝜋 =
𝑈𝐿

𝑈
=
1000

100
= 10 

Δ5. 

𝑃 = 𝑈𝐼 = 100 ∗ 20 = 2000𝑊 

ή 

𝑃 = 𝑅𝐼2 = 5 ∗ 202 = 1000𝑊 


